

SAVINGS + HOLIDAY SNEAK PEEK



New! GLASS VASE KITS





A. GENERAL OCCASION **GLASS GINGER VASE KITS**

3 each of 4 colors and 4 messages. Each kit includes: (12) 3" dia. opening x 7¾"H vases (12) 23/4" wood blingers (12) hand-tied bows \$71.70 ctn. of 12 (\$5.98 ea.) EJ KT2035

B. GLASS GATHERING VASE KITS

Available in 2 occasions. 3 each of 4 colors. Each kit includes: (12) 2½" dia. opening x 9¾"H vases (12) 2"H x 3½"W pics

(12) hand-tied bows \$73.05 ctn. of 12 (\$6.09 ea.) EJ KT2042 Get Well EJ KT2040 Birthday

C. GENERAL OCCASION **GLASS HOURGLASS VASE KITS**

3 each of 4 colors and 4 messages. Each kit includes: (12) 21/2" dia. opening x 83/4"H vases

(12) 23/4" wood blingers

(12) hand-tied bows

\$81.15 ctn. of 12 (\$6.76 ea.)

EJ KT2036





D. GENERAL OCCASION **GLASS BUD VASE KITS**

2 each of 6 colors and 6 messages. Each kit includes:

(12) 1" dia. opening x 9"H vases

(12) 23/4" wood blingers

(12) hand-tied bows \$51.90 ctn. of 12 (\$4.33 ea.)

EJ KT2034



FREE SHIPPING* COLORED GLASS



E. BREEZE GATHERED SQUARE **GLASS VASE ASSORTMENT**

Available in 3 sizes.

4 each of 4 colors. 21/8" sq. opening x 5"H. \$40.95 ctn. of 16 (\$2.56 ea.) EJ 3095-16-295*

3 each of 4 colors. 3" sq. opening x 63/4"H. \$38.60 ctn. of 12 (\$3.22 ea.) EJ 3097-12-295*

3 each of 4 colors. 3¼" sq. opening x 8¼"H. \$48.73 ctn. of 12 (\$4.06 ea.) EJ 3098-12-295*



K. 7" BREEZE REGENCY **GLASS VASE ASSORTMENT**

3 each of 4 colors. 3½" dia. opening x 7"H. \$36.52 ctn. of 12 (\$3.04 ea.) EJ 3027-12-295*



M. RASPBERRY BELLA GLASS VASES

Available in 2 sizes.

4" dia. opening x 8¾"H. \$30.39 ctn. of 6 (\$5.07 ea.) EJ 4060-06-320*

5½" dia. opening x 10½"H. \$40.87 ctn. of 6 (\$6.81 ea.) EJ 4061-06-320*

N. 8" RASPBERRY JORDAN GLASS VASE

4" dia. opening x 8"H. \$25.29 ctn. of 6 (\$4.22 ea.) EJ 4045-06-320*



F. BREEZE GLASS **CUBE ASSORTMENT**

Available in 2 sizes 3 each of 4 colors. 4" sq. opening x 4"H. \$37.69 ctn. of 12 (\$3.14 ea.) EJ 3059-12-295*

5" sq. opening x 5"H. \$51.60 ctn. of 12 (\$4.30 ea.) EJ 3060-12-295*



L. 93/4" BREEZE ROSE **GLASS VASE ASSORTMENT**

3 styles included. Style count may vary. 4" dia. opening x 93/4"H. \$51.91 ctn. of 12 (\$4.33 ea.) EJ 4090-12-295*



P. VIOLET BELLA GLASS VASES

Available in 2 sizes.

4" dia. opening x 8¾"H. \$30.39 ctn. of 6 (\$5.07 ea.) EJ 4060-06-129*

51/8" dia. opening x 105/8"H. \$40.87 ctn. of 6 (\$6.81 ea.) EJ 4061-06-129*

Q. 8" VIOLET JORDAN **GLASS VASE**

4" dia. opening x 8"H. \$25.29 ctn. of 6 (\$4.22 ea.) EJ 4045-06-129*



G. 8" IVY FROST JORDAN GLASS VASE

4" dia. opening x 8"H. \$25.28 ctn. of 6 (\$4.21 ea.) EJ 4045-06-312*

H. 8" IVY FROST GATHERING **GLASS VASE**

45%" dia. opening x 8"H. \$30.83 ctn. of 6 (\$5.14 ea.) EJ MKG940*

J. IVY FROST SPRING GARDEN **GLASS VASE**

Available in 2 sizes. 4¼" dia. opening x 9"H. \$29.22 ctn. of 6 (\$4.87 ea.) EJ MKG907*

53/8" dia. opening x 11"H. \$41.27 ctn. of 6 (\$6.88 ea.) EJ 4042-06-312*



FREE SHIPPING* **CLEAR GLASS**

A. ROSE GLASS VASE ASSORTMENT

3 styles included. Style count may vary. 3¾" dia. opening x 8½"H. \$28.47 ctn. of 12 (\$2.37 ea.) EJ 4093-12-09*

B. 61/2" SWIRL GLASS VASE

3" dia. opening x 6½"H. \$60.69 ctn. of 36 (\$1.69 ea.) EJ C118*

C. 7" REGENCY GLASS VASE

3½" dia. opening x 7"H. \$33.18 ctn. of 12 (\$2.76 ea.) EJ 3027-12-09*

D. 5" MODERN IVY GLASS BOWL

3" dia. opening x 5"H. \$48.93 ctn. of 36 (\$1.36 ea.) EJ 4056-36-09*

E. 8" ATHENA GLASS VASE

5" dia. opening x 8"H. \$50.47 ctn. of 9 (\$5.61 ea.) EJ 4027-09-09*





F. 8" ROSE GLASS VASE

41/8" dia. opening x 8"H. \$31.58 ctn. of 12 (\$2.63 ea.) EJ 4099-12-09*

G. GARDEN GLASS ROSE VASES

Available in 2 sizes.

35/8" dia. opening x 8½"H. \$34.16 ctn. of 12 (\$2.85 ea.) EJ 4210-12-09*

 $4\frac{1}{4}$ " dia. opening x $9\frac{3}{4}$ "H. \$38.59 ctn. of 12 (\$3.22 ea.) EJ 4206-12-09*





H. MILK JUG GLASS VASES

Available in 2 sizes.

2¼" dia. opening x 7½"H. \$65.91 ctn. of 24 (\$2.75 ea.) EJ 4015-24-09*

5" dia. opening x 8"H. \$61.45 ctn. of 12 (\$5.12 ea.) EJ 4048-12-09*

J. GATHERED SQUARE **GLASS VASES**

Available in 3 sizes.

2½" sq. opening x 5"H. \$41.97 ctn. of 18 (\$2.33 ea.) EJ 3095-18-09*

3" sq. opening x 63/4"H. \$34.85 ctn. of 12 (\$2.90 ea.) EJ 3097-12-09*

3¼" sq. opening x 8¼"H. \$42.62 ctn. of 12 (\$3.55 ea.) EJ 3098-12-09*















K. 73/8" TULIP GLASS VASE 1%" dia. opening x 7%"H. \$30.73 ctn. of 12 (\$2.56 ea.) EJ C98512*

L. 63/8" GLASS VIBE VASE 3" dia. opening x 63/8"H. \$23.71 ctn. of 12 (\$1.98 ea.) EJ 4118-12-09*

M. 9" CINCH GLASS VASE

4¼" dia. opening x 9"H. \$63.57 ctn. of 12 (\$5.30 ea.) EJ 4126-12-09*

N. RECTANGULAR VASE 6"H x 4"W 3"D.

\$22.94 ctn. of 12 (\$1.91 ea.) EJ 3077-12-09FTD*

P. REGAL GLASS VASE

3" dia. opening x 8"H. \$49.96 ctn. of 6 (\$8.33 ea.) EJ 3390-06-09*

Q. 9" SQUARED TAPERED GLASS VASE

4" sq. opening x 9"H. \$54.31 ctn. of 12 (\$4.53 ea.) EJ 3368-12-09*

30%-40% OFF SELECT ITEMS SILVER & GOLD



30% OFF

A. GOLD MERCURY GLASS VASE 4" dia. opening x 8¾"H. REG: \$34.17 ctn. of 8 (\$4.27 ea.) SALE: \$23.92 ctn. of 8 (\$2.99 ea.) EJ FGM731

40% OFF

B. GOLD MERCURY GLASS GINGER VASE 3¼" dia. opening x 6"H. REG: \$34.17 ctn. of 8 (\$4.27 ea.) SALE: \$20.50 ctn. of 8 (\$2.56 ea.)

EJ FGM732

C. IRIDESCENT SHIMMER **GLASS CUBE**

4" sq. opening x 4"H. \$87.43 ctn. of 12 (\$7.29 ea.) EJ 9733208

D. GEOMETRIC SHAPE SILVER SHIMMER GLASS VASE 5" opening x 73/4"H.

\$77.49 ctn. of 6 (\$12.91 ea.) EJ 9733209



30% OFF E. SILVER MERCURY ROUND **GLASS VASE** 5" dia. opening x 10"H.

REG: \$22.80 ctn. of 4 (\$5.70 ea.) SALE: \$15.96 ctn. of 4 (\$3.99 ea.) EJ FMG3120



30% OFF F. SILVER MERCURY GLASS **HURRICANE VASE**

3¼" dia. opening x 6¾"H. REG: \$45.48 ctn. of 12 (\$3.79 ea.) SALE: \$31.84 ctn. of 12 (\$2.65 ea.) EJ FTG9713



30% OFF

G. SILVER MERCURY **GLASS BUBBLE BOWL** 4" dia. opening x 4¾"H. REG: \$44.28 ctn. of 12 (\$3.69 ea.) SALE: \$31.00 ctn. of 12 (\$2.58 ea.) EJ FTG9798





30% OFF

H. SILVER MERCURY **GLASS CUBE** 3¼" sq. opening x 4"H. REG: \$39.48 ctn. of 12 (\$3.29 ea.)

SALE: \$27.64 ctn. of 12 (\$2.30 ea.) **EJ FTG9009**

25%-50% OFF SELECT ITEMS RED & SILVER METALLIC

J. SILVER SQUARED GLASS VASE 4" sq. opening x 8"H. \$55.68 ctn. of 12 (\$4.64 ea.) EJ 4-448GLS-1SL

K. METALLIC SILVER GLASS CUBES

Available in 2 sizes.

4" sq. opening x 4"H. \$84.34 ctn. of 24 (\$3.51 ea.) **EJ 9-400GLS-1SL**

 $4\frac{3}{4}$ " sq. opening x $4\frac{3}{4}$ "H. \$61.71 ctn. of 12 (\$5.14 ea.) **EJ 9-475GLS-1SL**







50% OFF L. METALLIC RED MERCURY GLASS GATHERING VASE

4¼" dia. opening x 7¾"H. REG: \$45.00 ctn. of 10 (\$4.50 ea.) SALE: \$22.50 ctn. of 10 (\$2.25 ea.) EJ FG5050



M. METALLIC RED MERCURY ROUND PETAL GLASS VASE

3" dia. opening x 5½"H. REG: \$39.60 ctn. of 12 (\$3.30 ea.) SALE: \$23.76 ctn. of 12 (\$1.98 ea.) EJ FG1009



GLASS BUBBLE BOWL 3¾" dia. opening x 4¾"H. \$52.46 ctn. of 12 (\$4.37 ea.)

EJ 6-942GLS-1MR

P. METALLIC RED GLASS CUBE

4" sq. opening x 4"H. \$78.17 ctn. of 24 (\$3.26 ea.) **EJ 9-400GLS-1MR**



Q. ROUND CRACKLED METALLIC RED GLASS VASE

5" dia. opening x 5"H. REG: \$41.06 ctn. of 6 (\$6.84 ea.) SALE: \$30.80 ctn. of 6 (\$5.13 ea.) EJ FMG575

25% OFF

R. CRACKLED METALLIC RED GLASS VASE

3½" dia. opening x 6"H. REG: \$47.06 ctn. of 6 (\$7.84 ea.) SALE: \$35.30 ctn. of 6 (\$5.88 ea.) EJ FMG576

25% OFF

S. CRACKLED METALLIC RED GLASS CYLINDER

4½" dia. opening x 8"H. REG: \$58.20 ctn. of 6 (\$9.70 ea.) SALE: \$43.65 ctn. of 6 (\$7.28 ea.) EJ FMG574



OFFERS VALID 7/1/18 - 8/10/18. 800.767.4000 7

CLEARANCE SALE

40% OFF

A. GLASS CYLINDERS WITH COPPER METAL WRAP

Available in 2 sizes.

4" dia. opening x 4¾"H. REG: \$64.42 ctn. of 12 (\$5.37 ea.) SALE: \$38.65 ctn. of 12 (\$3.22 ea.) EJ FGM1952

4¾" dia. opening x 7"H. REG: \$50.66 ctn. of 6 (\$8.44 ea.) SALE: \$30.40 ctn. of 6 (\$5.07 ea.) EJ FGM1953



60% OFF C. RED EMBOSSED GLASS VASE 4" dia. opening x 5¼"H.

REG: \$46.11 ctn. of 12 (\$3.84 ea.) SALE: \$18.44 ctn. of 12 (\$1.54 ea.)

EJ FG3046



40% OFF D. METALLIC RED **CERAMIC BUBBLE BOWL**

4¼" dia. opening x 4"H. REG: \$29.06 ctn. of 6 (\$4.34 ea.) SALE: \$17.44 ctn. of 6 (\$2.91 ea.) **EJ FT1143**



B. SQUARE CERAMIC SNOWMAN PLANTER

40% OFF

40% OFF

5" sq. opening x 6"H.

E. GOLD METAL TRIMMED **PYRAMID GLASS PLANTER**

Does not hold water. For use with air plants or event work. 6" opening x 7½"H. REG: \$54.23 ctn. of 6 (\$9.04 ea.)

SALE: \$32.54 ctn. of 6 (\$5.42 ea.)

EJ FTG220

40% OFF

F. GOLD METAL TRIMMED GEOMETRIC GLASS CUBE

Does not hold water. For use with air plants or event work. 4¾" opening x 4½"H. REG: \$55.63 ctn. of 6 (\$9.27 ea.)

SALE: \$33.38 ctn. of 6 (\$5.56 ea.)

EJ FTG312

G. SNOWFLAKE WRAPPED GLASS VASES WITH STAR ACCENT

Available in 2 shapes.

31/4" dia. opening x 33/4"H. REG: \$37.54 ctn. of 12 (\$3.13 ea.) SALE: \$22.52 ctn. of 12 (\$1.88 ea.)

EJ FG5983 Round

4" sq. opening x 43/4"H. REG: \$51.26 ctn. of 12 (\$4.27 ea.) SALE: \$30.76 ctn. of 12 (\$2.56 ea.)

EJ FG5984 Square



50% OFF

H. RED RIBBED GLASS VASE

3½" dia. opening x 8"H. REG: \$34.68 ctn. of 12 (\$2.89 ea.) SALE: \$17.34 ctn. of 12 (\$1.45 ea.) EJ FTG9087

60% OFF

J. SQUARE EMBOSSED GLASS VASE WITH HANDLE

4" dia. opening x 5"H. REG: \$27.43 ctn. of 6 (\$4.57 ea.) SALE: \$10.97 ctn. of 6 (\$1.83 ea.) EJ FG5041

50% OFF

K. RED FROSTED GLASS CUBE

4" sq. opening x 4¾"H.
REG: \$39.48 ctn. of 12 (\$3.29 ea.)
SALE: \$19.74 ctn. of 12 (\$1.65 ea.)
EJ FTGF012RD







40% OFF

L. SQUARE METAL PLANTER WITH HANGING REINDEER ACCENT

Hard liners included. 6¾" sq. opening x 5¾"H. REG: \$61.54 ctn. of 12 (\$5.13 ea.) SALE: \$36.92 ctn. of 12 (\$3.08 ea.) EJ FM1399



40% OFF

M. CERAMIC CARDINAL POT

5" dia. opening x 4¾"H. REG: \$49.86 ctn. of 10 (\$4.99 ea.) SALE: \$29.92 ctn. of 10 (\$2.99 ea.) EJ FT6704



40% OFF

N. CERAMIC SANTA FACE PLANTER

4½" dia. opening x 6"H. REG: \$38.88 ctn. of 4 (\$9.72 ea.) SALE: \$23.33 ctn. of 4 (\$5.83 ea.) EJ FT14369



40% OFF

P. CERAMIC CHRISTMAS JAR VASE

5" dia. opening x 5¼"H. REG: \$47.89 ctn. of 8 (\$5.99 ea.) SALE: \$28.73 ctn. of 8 (\$3.59 ea.) EJ FT3463



50% OFF

Q. RED ANTIQUED METAL LANTERN

16"H x 7½"W.

REG: \$67.45 ctn. of 3 (\$22.48 ea.) SALE: \$33.73 ctn. of 3 (\$11.24 ea.)

EJ FML74R

HOLIDAY SNEAK PEEK



A. ROUND CHRISTMAS CARD **GLASS VASES W/LED TEA LIGHT** AND ROPE HANDLE

Available in 2 sizes. 2 each of 3 colors/styles. LED tea lights included. 31/4" dia. opening x 43/4"H. \$32.40 ctn. of 6 (\$5.40 ea.) EJ 7-894GLS-1LS

3¾" dia. opening x 5¾"H. \$33.60 ctn. of 6 (\$5.60 ea.) EJ 7-893GLS-1LS



B. FROSTED GLASS VASE WITH CUT-OUT SNOWFLAKE

2¾" dia. opening x 6"H. \$44.74 ctn. of 12 (\$3.73 ea.) EJ 9732895

C. SANDBLASTED GLASS VASE WITH TEXTURED SNOW SURFACE AND CLEAR SNOWFLAKE

2¾" dia. opening x 7"H. \$54.44 ctn. of 12 (\$4.54 ea.) EJ 9729025





D. CERAMIC SNOWMAN VASES WITH HAT PIC

4 each of 3 styles. 1½" dia. opening x 6½"H. \$54.51 ctn. of 12 (\$4.54 ea.) EJ 4-454PTR-1SM

E. CERAMIC SNOWMAN PITCHER VASES WITH SCARF

4 each of 2 styles 2½" dia. opening x 6½"H. \$42.51 ctn. of 8 (\$5.31 ea.) EJ 4-538PTR-1RF



F. KNIT SANTA BOOT WITH FUR CUFF AND GLITTER SNOWFLAKE DETAIL

Red and gray knit fabric over plastic. 31/2" opening x 8"H. \$31.20 ctn. of 6 (\$5.20 ea.) EJ 9733022



G. CARDINAL DESIGN POTTERY PITCHER ASSORTMENT

1 each of 3 styles. 3½" opening x 8½"H. \$36.99 ctn. of 3 (\$12.33 ea.) EJ 7-059PTR-1CA



H. CERAMIC PITCHER VASE WITH CARDINAL ON PINE BRANCH

FDA approved for use with potable liquid. Individually boxed. 30 oz. 21/5" opening x 63/4"H. \$46.17 ctn. of 4 (\$11.54 ea.) EJ 185686



J. ROUND CARDINAL DESIGN CEMENT CYLINDER

Available in 3 sizes. Hard liners included. 6 each of 2 styles. 4" dia. opening x 4"H. Fits a 4" grower's pot. \$36.00 ctn. of 12 (\$3.00 ea.) EJ 3-104CM-1CAR

6 each of 2 styles. 4¾" dia. opening x 4½"H. Fits a 4½" grower's pot. \$48.34 ctn. of 12 (\$4.03 ea.)

EJ 3-105CM-1CAR

4 each of 2 styles. 6" dia. opening x 6"H. Fits a 6" grower's pot. \$67.89 ctn. of 8 (\$8.49 ea.) EJ 3-106CM-1CAR



K. ROUND RED & GREEN SPLITWOOD BASKETS

18 each of 2 styles. Hard liners included. 8% dia. opening x 4% H. 13"OH. \$182.06 ctn. of 36 (\$5.06 ea.) EJ 1-717KK-1RG



25% OFF

M. HOLIDAY ROUND BASKETS

Available in 2 sizes. Hard liners included. 6" dia. opening x 33/4"H. 11"OH. REG: \$30.68 ctn. of 12 (\$2.56 ea.) SALE: \$23.01 ctn. of 12 (\$1.92 ea.)

EJ F1208

8" dia. opening x 4"H. 13"OH. REG: \$44.40 ctn. of 12 (\$3.70 ea.) SALE: \$33.30 ctn. of 12 (\$2.78 ea.)

EJ F1209



Q. CARDINAL ON BRANCHES **MELAMINE POTCOVERS**

Available in 2 sizes. 5" dia. opening x 4½"H. \$19.03 ctn. of 12 (\$1.59 ea.)

EJ 1856303

 $6\frac{3}{4}$ " dia. opening x $5\frac{3}{4}$ "H. \$32.57 ctn. of 12 (\$2.71 ea.) EJ 1856304

L. WOOD CUBES WITH **GLASS CUBE INSERT**

Available in 3 sizes.

4 each of 3 styles. 4" sq. opening x 4"H. \$60.69 ctn. of 12 (\$5.06 ea.)

EJ 1-014K-1RS

2 each of 3 styles. 5" sq. opening x 5"H. \$40.63 ctn. of 6 (\$6.77 ea.)

EJ 1-015K-1RS

1 each of 3 styles. 6" sq. opening x 6"H. \$34.71 ctn. of 3 (\$11.57 ea.) EJ 1-016K-1RS



25% OFF

N. ROUND SNOWMAN WOODCHIP BASKETS

4 each of 3 sizes. Hard liners included. Small: 5½" dia. opening x 4"H. 8½"OH. Med: 7¾" dia. opening x 4½"H. 9½"OH. Large: 93/4" dia. opening x 5"H. 11"OH. REG: \$57.09 ctn. of 12 (\$4.76 ea.)

SALE: \$42.82 ctn. of 12 (\$3.57 ea.)

EJ F1533



25% OFF

P. SNOWMAN WOODCHIP PLANTERS

Available in 2 sizes. Hard liners included.

4½" dia. opening x 4½"H. REG: \$47.83 ctn. of 12 (\$3.99 ea.) SALE: \$35.87 ctn. of 12 (\$2.99 ea.)

EJ F1537

6½" dia. opening x 5½"H. REG: \$64.97 ctn. of 12 (\$5.41 ea.) SALE: \$48.73 ctn. of 12 (\$4.06 ea.) EJ F1536



R. METAL RIBBED SNOWFLAKE POTCOVERS

Available in 2 sizes. PVC liners included.

4¾" dia. opening x 4¾"H. \$45.60 ctn. of 12 (\$3.80 ea.) EJ 9733351

63/4" dia. opening x 53/4"H. \$39.09 ctn. of 8 (\$4.89 ea.) EJ 9733352



Available in 2 sizes.

16 each of 3 colors.

5" dia. opening x 5"H. Fits a 4½" grower's pot.

\$156.34 ctn. of 48 (\$3.26 ea.)

EJ 3-645NC-1XM

8 each of 3 colors. 6¾" dia. opening x 5½"H. Fits a 6½" azalea grower's pot. \$111.09 ctn. of 24 (\$4.63 ea.) EJ 3-203NC-1XM

800.767.4000 11

35%-70% OFF + FREE SHIPPING* OUTLET SALE









40% OFF

A. MATTE RED CERAMIC VASE WITH MATTE GOLD BAND AT BASE

31/2" dia. x 7"H.

REG: \$91.08 ctn. of 12 (\$7.59 ea.)

DELIVERED PRICE: \$54.65 ctn. of 12 (\$4.55 ea.)

EJ 1721B*

REG: \$45.54 ctn. of 6 (\$7.59 ea.)

DELIVERED PRICE: \$27.32 ctn. of 6 (\$4.55 ea.)

EJ 1721A*

40% OFF

B. RED CERAMIC RECTANGULAR VASE WITH LASER-CUT SNOWFLAKES

6"W x 23/4"D x 6"H.

REG: \$79.08 ctn. of 12 (\$6.59 ea.)

DELIVERED PRICE: \$47.45 ctn. of 12 (\$3.95 ea.)

EJ 1722B*

REG: \$39.54 ctn. of 6 (\$6.59 ea.)

DELIVERED PRICE: \$23.72 ctn. of 6 (\$3.95 ea.)

EJ 1722A*

40% OFF

C. RUSTIC RED GLASS HURRICANE WITH BASE

41/4" sq. x 9"H.

REG: \$127.08 ctn. of 12 (\$10.59 ea.)

DELIVERED PRICE: \$76.25 ctn. of 12 (\$6.35 ea.)

EJ 1723*

REG: \$63.54 ctn. of 6 (\$10.59 ea.)

DELIVERED PRICE: \$38.12 ctn. of 6 (\$6.35 ea.)

EJ 1723A*

40% OFF

D. RED AND GREEN "JOY" ORNAMENT BALL

5" dia. x 7"H; 3¾" dia. opening.

REG: \$100.68 ctn. of 12 (\$8.39 ea.)

DELIVERED PRICE: \$60.41 ctn. of 12 (\$5.03 ea.)

EJ 1725*

REG: \$50.34 ctn. of 6 (\$8.39 ea.)

DELIVERED PRICE: \$30.20 ctn. of 6 (\$5.03 ea.)

EJ 1725A*

40% OFF

E. RED METALLIC GLASS VASE WITH WHITE TEXTURED STRIPES AND JUTE CORD

5" dia. x 4¾"H; 4" dia. opening.

REG: \$91.08 ctn. of 12 (\$7.59 ea.)

DELIVERED PRICE: \$54.65 ctn. of 12 (\$4.55 ea.)

EJ 1726B*

REG: \$45.54 ctn. of 6 (\$7.59 ea.)

DELIVERED PRICE: \$27.32 ctn. of 6 (\$4.55 ea.)

EJ 1726A*

40% OFF

F. "I'LL JINGLE TO THAT" **CERAMIC VASE WITH JINGLE BELL**

4¾" dia. x 4¾"H.

REG: \$71.88 ctn. of 12 (\$5.99 ea.)

DELIVERED PRICE: \$43.13 ctn. of 12 (\$3.59 ea.)

EJ 1727B*

REG: \$35.94 ctn. of 6 (\$5.99 ea.)

DELIVERED PRICE: \$21.56 ctn. of 6 (\$3.59 ea.)

EJ 1727A*



35% OFF

G. PLAID ORNAMENT CERAMIC VASE

5" dia. x 7"H; $3\frac{5}{4}$ " dia. opening. REG: \$103.08 ctn. of 12 (\$8.59 ea.)

DELIVERED PRICE: \$67.00 ctn. of 12 (\$5.58 ea.)

EJ 1728*

REG: \$51.54 ctn. of 6 (\$8.59 ea.) DELIVERED PRICE:

\$33.50 ctn. of 6 (\$5.58 ea.)

EJ 1728A*

40% OFF

H. METAL SILVER AND WHITE GLASS VASE

3¾" dia. x 7"H.

REG: \$83.88 ctn. of 12 (\$6.99 ea.)

DELIVERED PRICE:

\$50.33 ctn. of 12 (\$4.19 ea.)

EJ 1729B*

REG: \$41.94 ctn. of 6 (\$6.99 ea.)

DELIVERED PRICE:

\$25.16 ctn. of 6 (\$4.19 ea.)

EJ 1729A*

70% OFF

J. METALLIC RED GLASS VASE

5" dia. x 8"H.

REG: \$95.88 ctn. of 12 (\$7.99 ea.)

DELIVERED PRICE:

\$28.76 ctn. of 12 (\$2.40 ea.)

EJ 1621*

70% OFF

K. RUBY RED GLASS VASE WITH METAL HOLDER

3%" dia. x 5½"H.

REG: \$98.28 ctn. of 12 (\$8.19 ea.)

DELIVERED PRICE:

\$29.48 ctn. of 12 (\$2.46 ea.)

EJ 1626*

40% OFF

L. CERAMIC PRESENT-SHAPED VASE WITH INSPIRATIONAL MESSAGING

4¾" sq. x 6¾"H.

REG: \$95.88 ctn. of 12 (\$7.99 ea.)

DELIVERED PRICE:

\$57.53 ctn. of 12 (\$4.79 ea.)

EJ 1747*

70% OFF

M. MATTE RED CERAMIC ORANAMENT VASE WITH SNOWFLAKES

5" dia. x 7"H; 3¾" dia. opening. REG: \$117.48 ctn. of 12 (\$9.79 ea.)

DELIVERED PRICE:

\$35.24 ctn. of 12 (\$2.94 ea.)

EJ 1625*

70% OFF

N. CERAMIC SANTA "BELIEVE" MUG VASE

4" dia. opening x 5" dia. x $6\frac{1}{2}"\text{OW}$ x $4\frac{3}{4}"\text{H}.$

REG: \$77.88 ctn. of 12 (\$6.49 ea.)

DELIVERED PRICE:

\$23.36 ctn. of 12 (\$1.95 ea.)

EJ 1627*

70% OFF

P. FROSTED GLASS CYLINDER VASE WITH SILVER SNOWFLAKE METAL SLEEVE

3½" dia. opening x 7½"H.

REG: \$83.88 ctn. of 12 (\$6.99 ea.)

DELIVERED PRICE:

\$25.16 ctn. of 12 (\$2.10 ea.)

F.J 1629*

40% OFF Q. CHRISTMAS MINI COMBO PACK 3 pieces of each. REG: \$142.99 ctn. of 15 (\$9.53 ea.) DELIVERED PRICE: \$85.79 ctn. of 15 (\$5.72 ea.) EJ 1744C*

FREE SHIPPING* + BUY 3 OR MORE AND SAVE - MIX & MATCH

BASKETS

A. ROUND WILLOW BASKETS

4 each of 3 sizes. Hard liners included. Small: 81/2" dia. opening x 4"H. Medium: 9½" dia. opening x 4¼"H. Large: 11½" dia. opening x 4½"H. REG: \$80.28 ctn. of 12 (\$6.69 ea.) BUY 3+: \$72.25 ctn. of 12 (\$6.02 ea.) EJ RBWS3*

B. BRAIDED WOODCHIP BASKETS

2 each of 3 shapes. Over the rim hard liners included. Rectangular: 3¾"H x 8½"W. Square: 7½" sq. opening x 4½"H. Oval: 3¾"H x 9½"W. REG: \$33.84 ctn. of 6 (\$5.64 ea.) BUY 3+: \$30.46 ctn. of 6 (\$5.08 ea.) EJ 59889GW*

C. WHITEWASH BAMBOO AND SEAGRASS BASKETS

8 each of 3 shapes. Hard liners included. 6" - 8" openings x 4"H. 121/2"OH. REG: \$54.96 ctn. of 24 (\$2.29 ea.) BUY 3+: \$49.46 ctn. of 24 (\$2.06 ea.) EJ 2117*

D. WHITE PAINTED RECTANGULAR BASKET

Hard liners included. 5" x 7" opening x 3¾"H. REG: \$27.26 ctn. of 12 (\$2.27 ea.) BUY 3+: \$24.53 ctn. of 12 (\$2.04 ea.) EJ F1010*



E. WHITEWASH BASKETS WITH **TALL HANDLE**

2 each of 3 sizes. Hard liners included. Small: 7½" dia. opening x 6"H. Medium: 9½" dia. opening x 7"H. Large: 11" dia. opening x 8"H. REG: \$32.83 ctn. of 6 (\$5.47 ea.) BUY 3+: \$29.55 ctn. of 6 (\$4.93 ea.) EJ F2143*

F. WHITEWASH BAMBOO BASKETS

8 each of 3 shapes. Over the rim hard liners included. Square: 7" sq. opening x 3½"H. Round: $6\frac{1}{2}$ " dia. opening x $3\frac{1}{2}$ "H. Oval: 3½"H x 7"W x 3½"D. REG: \$36.00 ctn. of 24 (\$1.50 ea.) BUY 3+: \$32.40 ctn. of 24 (\$0.90 ea.) EJ 1603GW*

G. SQUARE ROPE BASKETS

4 each of 3 sizes. Over the rim hard liners included. 7½", 8½" and 9½" sq. openings. REG: \$51.00 ctn. of 12 (\$4.25 ea.) BUY 3*: \$45.90 ctn. of 12 (\$3.83 ea.) EJ 59866GW*

H. LARGE VINE BASKETS

2 each of 3 sizes. Hard liners included. 10", 12" and 15" openings. REG: \$71.06 ctn. of 6 (\$11.84 ea.) BUY 3+: \$63.95 ctn. of 6 (\$10.66 ea.) EJ F1501*

J. OVAL WILLOW BASKETS

2 each of 3 sizes. Hard liners included. Small: 4"H x 7"W. $9\frac{1}{2}$ "OH. Medium: 5"H x $9\frac{3}{4}$ "W. 12"OH. Large: 6"H x 12"W. 15"OH. REG: \$59.94 ctn. of 6 (\$9.99 ea.) BUY 3+: \$53.95 ctn. of 6 (\$8.99 ea.) EJ FT01178*

K. VINE TRIANGLULAR PLANTER

Hard liners included.
13½" opening x 7"H.
Fits three 6½" grower's pots.
REG: \$35.88 ctn. of 6 (\$5.98 ea.)
BUY 3+: \$32.29 ctn. of 6 (\$5.38 ea.)
EJ FT82250*

L. TWIGGY VINE POTCOVERS

Available in 2 sizes. Hard liners included. 10" dia. opening \times 8½"H. Fits an 8" grower's pot. REG: \$41.03 ctn. of 8 (\$5.13 ea.) BUY 3+: \$36.93 ctn. of 8 (\$4.62 ea.) EJ F7055*

12" dia. opening x 11"H. Fits a 10" grower's pot. REG: \$41.06 ctn. of 6 (\$6.84 ea.) BUY 3+: \$36.95 ctn. of 6 (\$6.16 ea.) EJ F7056*

M. VINE BASKET

Hard liners included. 6" dia. opening x 3¾"H. REG: \$52.56 ctn. of 24 (\$2.19 ea.) BUY 3*: \$47.30 ctn. of 24 (\$1.97 ea.) EJ 82256*









OFFERS VALID 7/1/18 - 8/10/18. 800.767.4000 | 15

25% OFF PINECONES*



25% OFF

A. 11/2" TRIPLE PINECONE PICS

Three pinecones on a 6" wired pic.

REG: \$30.00 ctn. of 100 (\$0.30 ea.) SALE: \$22.50 ctn. of 100 (\$0.23 ea.)

EJ PC1010 Natural

REG: \$33.00 ctn. of 100 (\$0.33 ea.) SALE: \$24.75 ctn. of 100 (\$0.25 ea.)

EJ PC1011 White Tipped

REG: \$63.00 ctn. of 100 (\$0.63 ea.) SALE: \$47.25 ctn. of 100 (\$0.47 ea.)

EJ PC1012 Silver EJ PC1013 Gold

REG: \$63.00 ctn. of 100 (\$0.63 ea.) SALE: \$47.25 ctn. of 100 (\$0.47 ea.) EJ PC1024 Silver with Glitter

25% OFF

B. 21/2" SINGLE PINECONE PICS

Single pinecone on a 6" wired pic.

REG: \$21.00 ctn. of 100 (\$0.21 ea.) SALE: \$15.75 ctn. of 100 (\$0.16 ea.)

EJ PC1014 Natural

REG: \$23.00 ctn. of 100 (\$0.23 ea.) SALE: \$17.25 ctn. of 100 (\$0.17 ea.)

EJ PC1015 White Tipped

REG: \$37.00 ctn. of 100 (\$0.37 ea.) SALE: \$27.75 ctn. of 100 (\$0.28 ea.)

EJ PC1016 Silver EJ PC1017 Gold

REG: \$37.00 ctn. of 100 (\$0.37 ea.) SALE: \$27.25 ctn. of 100 (\$0.28 ea.) EJ PC1026 Silver with Glitter

25% OFF

C. 4" SINGLE PINECONE PICS

Single pinecone on a 6" wired pic.

REG: \$33.00 ctn. of 50 (\$0.66 ea.) SALE: \$24.75 ctn. of 50 (\$0.50 ea.)

EJ PC1018 Natural

REG: \$37.00 ctn. of 50 (\$0.74 ea.) SALE: \$27.75 ctn. of 50 (\$0.56 ea.)

EJ PC1019 White Tipped

REG: \$52.50 ctn. of 50 (\$1.05 ea.) SALE: \$39.38 ctn. of 50 (\$0.79 ea.)

EJ PC1020 Silver EJ PC1021 Gold

REG: \$47.00 ctn. of 50 (\$0.94 ea.)

SALE: \$35.25 ctn. of 50 (\$0.71 ea.)

EJ PC1027 White Tipped with Glitter

REG: \$60.00 ctn. of 50 (\$1.21 ea.)

SALE: \$45.00 ctn. of 50 (\$0.90 ea.) EJ PC1028 Silver with Glitter

*SORRY, NOT AVAILABLE IN CANADA. OFFER VALID 7/1/18 - 8/10/18.

FTDMARKETPLACE.COM SHOPPING SITE!

To view all of our monthly specials, visit www.ftdi.com/promotions

STAY CONNECTED!

f facebook.com/MercuryNetwork

youtube.com/FTDMercuryNetwork

instagram.com/MercuryNetwork

blog.ftdi.com

PHONE: 800.767.4000 | FAX: 630.719.4861 | MERCURY: 90-0233AA

